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Full Marks : 100

Time : 4 Hours

The figures in the right-hand margin indicate full m?zrks.

Candidates are required to give their answers in their
own words as far as practicable.

fllustrate the answers wherever necessary.

Group—A

( Micro Economics )

1, Answer any one question : © 1x15

(a) Determine the equilibrium of a consumer with the
help of indifference curves and budget line. ‘Explain
the price effect and thereby distinguish between
inferior and giffen good. 1045

{Turn Quer)



(b) With the help of a diagram, explain different phases
of a short run production function. What do you mean

by isoquant and isocost line ? 7+4+4

(c) Determine the short run equilibrium of a firm under

perfect competition, What is break-even point and
shut-down point of a firm ? 10+5

2. Answer any three questions ; 3x8

(a) Using the Indifference curve. theory, derive the

demand curve for a normal good. 8

(b) State and explain the Laws of Returns to scale.
8

(c) What do you mean by own price elasticity of demand ?
Derive the relationship among marginal revenue,
average revenue and price elasticity of demand.

4+4

{d) Explain the various types of elasticities related to |

demand.

{e) Describe the law of diminishing marginal utility and

its impact on Marshallian equilibrium.

() Discuss the features of a standard in difference curve.
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. Answer any two questions : 2x3

(a} Distinguish between micro and macro economics,

(b) What do you mean by income consumption ¢urve ?
t 1

(c) Differentiate between fixed and variable cost.:

(d} Write a short note on Giffen good.

() What are the features of monopolistic competition ?

Group—B

{ Macro Economics )

4. Answer any one question : . | 1x15

(a) Using the IS-LM framework, establish the
simultaneous equilibrium in the product market and
the money market. Also analyze the stablhty of this
equilibrium. . 1045

(b) Explain the process of credit creation by commercial
banks. What are the limitations to such process?
| 1045

(c) Distinguish between demand pull and cost push
inflation. Mention the inflation controlling measures.
6+9
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5. Answer any three questions : 3x8 \.
(a} Explain the Keynesian liquidity preference theory. 4
(b “Savings is always equal to investment” — Elaborate.

{c) Describe the four phases of business cycle,

(d) What is business cycle ? Discuss the various phases

of a business cycle. 345
{e} Write short note on “Paradox of Thrift”. - 8

(i What do you mean by inflation ? Discuss the different

causes of inflation. 2+6
o d
6. Answer any fwo questions : 2x3
fa} Distinguish between GDP and GNP. =
|
(b} Give three important functions of money. '
{t) Write short note on “Liquidity Trap”.
{d) Discuss the monetary policy briefly to combat
inflation. )
{e) What are the methods for measuring the national
income ? o

[ Internal Assessment — 10 Marks|
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